CADIRIRI www.cadiriri.com.br
e e e | AR formularios@cadiriri.com.br (11) 2601-2839 (11) 96393-2796 HiT

Hanshang Hydraulic
DWHGE! B8 i 32 [5] 1] C HlEMZ: 4ADWHG10.. B! ( Z{E M HLP46 , Oi4=40C + 5CHHlIE )

Characteristic curves: Type 4DWHGH10... ( measured with HLP46, Voil=40C +5C )
DWHG SERIES SOLENOID

Ap-q,8E 2 Characteristic curves

PILOT OPERATED . ’/6 >
4
DIRECTIONAL VALVES ° /
9 3
O . LA,
o s /// /| /]
: iy I
: 1 YA
: V7
o xf . %2
S HE P74
a 1
. |
0 20 40 60 80 100 120 140 160
Fi& Flow in (L/min ) —>
HEEHS 1§47 B Spool position eSS F{i Central position
DWHGZY 8 i $4 [0] ) /2 FA P8 Rl 38k [ 8 /6 Ay 5 42 Wl B0 7 R =X DWHG series are solenoid pilot operated spool type valves . This series Seool symbol | p-A P-B AT BT | Spoclsymeol] AT B-T P-T
EE, AFESERAERAR A, are used to control the start ,stop and direction of flow. EY.D 2 2 4 5
F 1 4 1 4 F 3 - 6
GT 4 2 2 6 GT - - 7
HC 4 4 1 4 H 1 3 5
© #ASB# Technical data K i 2 3 B
L 2 3 1 4 L 3 _ _
M 4 4 3 4
P 4 1 3 4 P - 7 5
&% Size 10 16 22 25 32 QVW.z 2 2 3 5
RET{EES P AB(MPa) Max operating pressure P.A.B(MPa) 315 35 315 35 35 R 2 2 3 -
u 3 3 3 4 u - 4 -
$=413m4MEE Externally drained 315 25 25 25 25
THE(MPa) T Port (MPa) Fif(AC)-10 ZZifE(AC)-10 Zif(AC)-10 Zif(AC)-10 Zifi(AC)-10
#2413 M HE Internally drained - :
Hiit(DC)-16 Eifi(DC)-16 Hiit(DC)-16 Hiit(DC)-16 Hiit(DC)-16 C 4MEhzk: 4DWHG16.. B ( ZEEA HLP46 , Ui=40C = 5CRHIEG )
FZiR(AC)-10 ZifE(AC)-10 ZiFE(AC)-10 Zif(AC)-10 ZZiHE(AC)-10 isti . i il=.
YOI(MPa) Y Port MPa)  $#li5hE Externally drained (AC) (AC) (AC) (AC) (AC) Characteristic curves: Type 4DWHGH16... ( measured with HLP46, Voil=40C +5C )
Hif(DC)-16 Hif(DC)-16 Hif(DC)-16 Hif(DC)-16 Hifi(DC)-16
BMEFIES (MPa) Min. Pilot pressure(MPa) 0.45-1 0.45-1.3 0.45-1 0.45-1 0.45-1 Ap-q i Characterisiccurves . s
K78 (L/min) Max. flow rate(L/min) 160 300 450 650 1100 " 7 4 !
HE(T3) Weight(KGS) 6.7 95 12 18 385 i A A
i eig . . .
i () EWALE . ,// /4 .
. S REBELALEE casting phosphating surface b= / / / L /
8 P 1
Valve body ( Material ) Surface treatment 4 5] / / // //
@ 2
e ] NAS1638 9£¢F11SO4406 20/18/15%% 5 ¢ 7 g -~
RS NAS1638 class 9 and ISO4406 class 20/18/15 sg / A //
173
% g : %
0
0 50 100 150 200 250 300
& Flow in ( L/min ) —>
HEERS HRALE Spool position HEEHS )4 B Spool position
Spoolsymbol ["p-AT"p 8 [ AT | B-T | P-T Spoolsymbol ["p_A TP [ A-T | B-T | P-T
ED)Y 1 1 1 3 - MW 2 2 4 3 -
F 2 2 3 3 - R 2 2 4 - -
GT 5 1 3 7 6 u 1 1 4 7 -
H,C,Q,V,Z 2 2 3 3 - S 4 4 4 - 8
J.K,L 1 1 3 3 -
32 Ningbo Hanshang Hydraulic Co.,Ltd. www.nshpv.com




Industrial hydraulic valve | T % & i@

O #5iEeigk: 4DWHG22... 8! (#E{E M HLP46 , 0=40C + 5CHIE )
Characteristic curves: Type 4DWHG22... ( measured with HLP46, Voil=40°C +5C )

Ap-qv MBERI%Z  Characteristic curves

14 5 6 Maeme YL E Spool position
/ 4 Spool symbol| p_p | p-B | A-T | B-T | P-T | B-A
o 12 E 2 2 1 4 - -
. 3 F 1t 2 [ 1 [ 2] a]-~
= s 10 2 G 2 [ 221456 |-
a g / H 2 | 2 [ 1 [ 3 ]2]-
S T 2 8 1 J 2 |2 |1 |3 | -1]-
o ~5 / L 2 2 1 2 -
=2 8¢ 6 M 2 [ 2 [ 1 4 | -] -
S~
~ 3 / P 2 [ 2 [ 1[4 6s6 |-
% o 4 Q 2 |2 |1 | 4| - |-
e 2 / / R 1 2 1 — - 5
T 2 2 2 4 5 -
v 2 2 1 4 - | -
0 50 100 150 200 250 300 350 400 450 W 2 B p 3 — —
SRE Flow in (L/min) —
4 HLEEFFSL  Spool symbol L
F{IA-T Central position A—T
6 HLEEFFSU Spool symbol U
{iiB-T Central position B—T
O #iEdigk: 4DWHG25. B (7EfE M HLP46 , 0m=40C + 5CRFIG )
Characteristic curves: Type 4DWHG25... ( measured with HLP46, Voil=40C +5C )
1 Ap-q.tE8E 1% Characteristic curves 8 7 6 5
4 VA4
12 / / / 3
/ A,
10 % / // VA/ g2
s
15 // S
()
g% 6 /// %// — 7 HEEHES G Spool symbol G
=3 A/éé L1 H{iP — T  Central position P - T
B 8 4 7 = 8 HLEEFFS T  Spool symbol T
Ha 2 / é HifitP — T Central position P - T
]
0 100 200 300 400 500 600 650
i#i& Flow in ( L/min ) —>
HLEERF S YIHSALTE Spool position HLEEF S YHSALTE Spool posiion HLEEH S YHRALE Spool position
PA|PB | AT | BT e A P8 | AT | BT P A e | AT | BT
E 1 1 1 3 L 2 2 3 3 u 4 1 1 6
F 1 4 3 3 M 4 4 1 4 v 2 4 3 6
G 3 1 2 4 P 4 1 1 5 w 1 1 1 3
H 4 4 3 4 R 2 1 1 - T 3 1 2 4
JQ 2 2 3 5
34 Ningbo Hanshang Hydraulic Co.,Ltd.

. ®
HAT
Hanshang Hydraulic
O #iEdZk: 4DWHGS32. B! ( ZEfE A HLP46 , Om=40C + 5CRTI4G )
Characteristic curves: Type 4DWHG32... ( measured with HLP46, Voil=40C +5C )

Ap-qfEEEHZ-HEEFSERW Ap-qiEEEHZ-IEEHSGT
Characteristic curves-Spool E,R,W Characteristic curves-Spool G, T

18
/|
16 16
W) B-
» A/ " /1 /
E A/ 5,
e BT 2 c T
¢ g 10 4/ // ¢ g 10 L /|
~£ ~£ 4 pd
= =
5o A1 N Ee - ///,/
5 Z5 Ak
e /, A WwHa 4 A
o P4A bl ] P-B
HE Z HE
0 0
0 120 200 360 480 600 720 840 960 1080 0 120 200 360 480 600 720 840 960 108(1

i Flow in ( L/min ) —>

Ap-q BB &-FTEEER S
Characteristic curves—All spool type

i Flow in ( L/min ) —>

A
- / 1) LA FHEEHS R
£ i 2) RRFHEHS R
12
? g 10 ,/ 1) Only applicable for spool R
-5 2) Not applicable for spool R
T @ 8
=2
<
Be . A T~
2 '//
0 |

0 120 200 360 480 600 720 840 960 1080
Fii Flow in (L/min ) —>

© #BE# = Spool symbols

WHG A WHG DWHG
B AL
+— w
np A
»{a o e e/ zdla [o]b g
DWHG i | ml

A B
A
Pl

A B
VM e
P

A B
A B

c (0 OIEX - RS X9
X TEX o K XERE
1 XHO » OHEEX OEE
T XH - TEEEX TR
T XS e ORE I (XE
T DXIE « DXEEEED (X9 -
s XKHEED CEHX - OSSR ) «

ol ¥ (UDWHG 1677 SELHLAE
Note:Only DWHG16 with S spool

D

www.nshpv.com




(@)
[
[
o
«Q
S
@
()
o
=
~

36

Industrial hydraulic valve | T % & i@

O =5 R 5 SMt R HES SMEERI SRR Pilot fluid supply

Main valve 1

DWHG10 B ftHEL5 1 E
DWHG10 explanation partial drawing

—. 4DWHG10%!

1. RS IMEFE R RETR_EPFL R EM6U2ET
3A5MEE, IFTMEZET3A M,

2. WHESSMERR IR EIRUEEET, % EMBIEET2
ShEE, R TMEURST A FHE,

1. 4DWHG10

(1) Internal pilot and external pilot:

The“P”port with M6 screw 3 is external pilot,to
convert valve into internal pilot, the M6 screw 3
must be removed.

(2) Internal drain and external drain:

Removing the bolt 1, to install M6 screw 2 is
external drain,unscrew the M6 screew 2 is internal
drain.

Ningbo Hanshang Hydraulic Co.,Ltd.

| Magg};%lvep ,77%,,%

Y [¢) N 3 2
Internal pilot

2 AMIE External pilot

DWHG16 B AtHE 2514 E
DWHG16 explanation partial drawing

Z. 4DWHG16%E!

1. AESIMERIR: IFTAS, HH3K/NLH

1 E MR SME, HEEHSHY NS BASME R Mo

2, WHESSMERER: BERTEEBERT, K
EMEIRET2RSME, #F TMEIRST2R Ak,

2. 4DWHG16

(1) Internal pilot and external pilot:

Removing the sideward cover, installing the pin to
allow “P” port with open position is internal pilot, to
convert the pin into “P” port with plugged position is
external drain.

(2) Internal drain and external drain:

Removing the bolt 1 and installing M6 screw 2 is
external drain, unscrew the M6 screw 2 is internal
drain.

P

=. 4DWHG25%!

1. RESIMERIR: FTmE, & M6l
$T15Mit, IFRTMBRST 2 B A

2. WHESSMER R BERTETELHEIME
IBET2IR T AMHE, FEAHSME,

M. 4DWHG328!

1, WESIMIESR: BERTEPFLARAIMG
HBET1 3 ERUSMILIR T A M o

2. WHESSMERR: BERTLETILHEIME
$B4T23% EASMIE, R AMHE,

ERET: NER BRI EXOEE,
PIHER S AR RAR LY O £

e

O il A5 SMER MHES SMERIEEA Pilot fluid supply

Main valve DWHG25 BUfitHELsHE

DWHG25 explanation partial drawing

DWHG32 BIftHEZHE
DWHG32 explanation partial drawing

3. 4DWHG25

(1) Internal pilot and external pilot:

Removing the sideward cover,installing M6
screw 1 is external pilot,unscrew the M6 screw
2 is internal pilot.

(2) Internal drain and external drain:
Removing the M6 screw 2 in the “T"port on the
top of main valve is internal drain, installing the
M6 screw 2 is external drain.

4, ADWHG32

1. Internal pilot and external pilot:

Installing the M6 screw 1 in the“P"port on the
top of main valve is external pilot; removing
the M6 screw 1 is internal pilot.

2. Internal drain and external drain:
Removing the M6 screw 2 in the“T"port on the
top of main valve is external drain; installing
the M6 screw 2 is internal drain.

NOTE : 1.The “X” port on the base plate must
be plugged if internal pilot.
2.The “Y” port on the base plate must
be plugged if internal drain.

T

Hanshang Hydraulic

www.nshpv.com




Industrial hydraulic valve | T % & i@ ’, ,‘i®

- &
Hanshang Hydraulic
(C 4DWHG10%M R~ 4DWHG10 Subplate Installation Dimensions © 4DWHG165M R~ 4DWHG16 Subplate Installation Dimensions

a1 217

o — b a 00— b a
O L
: T - — -
o
o = | = = n H H
= — J . —
) = | . C = ;
o =
g =
£ i) ; A Bo| | g
I I £
] — A B —
K i 7 C s
— HENREE = 211.8
AN
169
101.6
18.2] 341 o
A o4 4-06. 6? Pylome f%l:' /A I=|/\
AN S\
— o e
? T ﬁ/ [ \:j/T \\‘\;ﬁ/ \X‘/ |
| N Y@y 4/ I g b { \\, - a z =
= N NI/ n =
_ b YA /?i§\ any Y a _ T b VZERNN /;i:\ T
© R ] R L > G MERY:S
= — , i\§§¢5/ \\¢///i — = e R n e et e =1 R |
—_ LAy — N — ¥
y=an W G e D e )
< & = ==
2%
: \\% o 4-011%Pylome/ 2-06. 6% Pylome -
= —
h =
B EIEIRET Valve’ s set screw
1. EEEELZ: 1.Valve’ s set screw 44~-M10X60GB/T 70.1-12.94% #7%%$%EMa=75Nm 4 of M10 x 60 GB/T70.1-12.9 Tightening torque Ma=75Nm.
4/M6X45 GB/T70.1-12.94% 4 of M6 x 45 GB/T70.1-12.9 2/"M6X60GB/T 70.1-12.9%¢ #54#4EMa=15.5Nm 2 of M6 x 60 GB/T70.1-12.9 Tightening torque Ma=15.5Nm.
1% H4EMa=15.5Nm Tightening torque Ma=15.5Nm. O-ring for P.T.A.B Port: ¢26x2.4
2, OBE ®16X1.9 2.0-ring ¢ 16x1.9

O-ring for X.Y.L Port: $15x1.9

38 Ningbo Hanshang Hydraulic Co.,Ltd. www.nshpv.com




(@)
[
[
o
«Q
S
@
()
o
=
~

40

Industrial hydraulic valve | T % & i@

(C 4DWHG224M2 R~ 4DWHG22 Subplate Installation Dimensions

= ol —
ﬁ N ]
= dl . =
H
I X A B | =
133
130
12.2 53 6-913% -
©—=4C (7
L~ Ty, N |
e L] Il
| = 0 F
s < » =inE
ry s ~| =
= = ;@’\ ‘Um /@1 —
7 7 7
£ { | | o i
NN /) \
AN S AN A
&/ N Y/
17
R EIERET Valve’ s set screw
6/~M12X60GB/T 70.1-12.94% 7% H%EMa=130Nm 6 of M12 x 60 GB/T70.1-12.9 Tightening torque Ma=130Nm.
P.T.ABROZE: ©31X3.1 O-ring for P.T.A.B Port: $31x3.1
X.YOOZIE: ©25X3.1 O-ring for X.Y Port: ¢ 25 x 3.1

Ningbo Hanshang Hydraulic Co.,Ltd.

© 4DWHG25%M2 R~ 4DWHG25 Subplate Installation Dimensions

T

Hanshang Hydraulic

I
o

D
(L)

126

209

302

130
5 6-014% Pylome

Va ) Va
W= U0 1\«
[0 ]

7 N
O ==

\

92

=
HL#:J/Ea In:f@; ﬁ_ﬂ:ﬂ

F o T |

AN ST A :izm@/
N I

115
a
N

115

18 B R 24T Valve’ s set screw

64-M12X60 GB/T 70.1-12.9%% #7%#4EMa=130Nm 6 of M12 x 60 GB/T70.1-12.9 Tightening torque Ma=130Nm.
H O-ring for P.T.A.B Port: ¢34 x3.1

O-ring for X.Y Port: ¢ 25x3.1

www.nshpv.com




Industrial hydraulic valve | T % & i@

T

Hanshang Hydraulic

(© 4DWHG325ME R~ 4DWHG32 Subplate Installation Dimensions C EHRZRFER T Installation dimensions
p
4DWHG16
4DWHG10 138
b
) 108 101.6
O 54 27 5.9
2 H 50.8 5 _am0/19
D E_ ol 37.3 7.9 341
a 21 . I53 <
c [ 16.7 JONRTE R =
o 3.2 ||z — Yy o 3
N - T P
S —— g 291|  |g lel | |b IV 617
_ ) () ’r\ S 04 \J \\J X
a 8 P Ay A [T Shaile © X 4ol i P
= DN AR A B 26 | 3z
o~
‘ s AT
e —1 TS o V 7
5-610.5 o N m 3
o
S 4-M6/12 < -
364
0 ADWHG22/4DWHG25 4DWHG32
2.5 7 0005 168 233.5
E a2y 130 190. 5
112.5 : 417685;5
@\ A TA 18 100. 6 114.5
%)}) 5376-8 21.5|- 82.5
( P BN W g on S 76 -
Vs W\ % AP \ 99. 2 6-M12,/25 TN 6-M20/35
[ T - m Far a
220 ) \» o
] = o) Pary c
TNT N [T DD
NPARVIAIS NN
Bl P v 34 .
= = O = &L 3ly10 O e =
0 3-$24.5 > = A :
= = = A ’ B & o e B/\ =l
= a1 DD el | e e WINPT
@) o[ ¢ N al o O——o
- & ) NV \ A L)
5.6 9210 3-638
1.5 1145 7.3 "
1B B B4R ET Valve’ s set screw
64"M20X80 GB/T 70.1-2000 12.9%% #7&H%E 6 of M20 x 80 GB/T70.1-2000 12.9 Tightening torque Ma=430Nm.
Ma=430Nm O-ring for P.T.A.B Port: $42x3
O-ring for X.Y Port: $ 19x3
42 Ningbo Hanshang Hydraulic Co.,Ltd. www.nshpv.com




(@)
()
—~
()
o
«Q
=
®
N
o
=
~

44

Industrial hydraulic valve | T )i i JE &

[ H [aowHGto] + | E |60+ [DC2a| N [ * /% [z5L] + [ + | * |+ |

F=28MPa
H=35MPa
No code=
28MPa
H=35MPa

@12 10;16;22;25;32]
Size 10;16;22;25;32
FT=EREE
H== il E X
No code=spring return
H=Hydraulic return

RiBRIEERS

See the function symbol
of spool valve
%#%130=10i1%; % 560=16-32i&1Z
Series 30=Size 10;Series 60=Size 16-32
O=8 L EMHHE
OF=5@EE#E, HEMS
O=Without spring return
OF=Without spring return,with detent

FJE Voltage
DC12;DC24 ;AC110;AC220
N=B#[ER TR, =8B R TR

N=With concealedmanual override
No Code =Without concealed manual override

Bff fin 35t AR

For further details

To=THE 1AL
V=FRE

No code=NBR seals
V=FPM seals

AR = TUE
P4.5=1TUER; FrREF0.45MPa
No code=Without preload valve
P4.5=With preload valve

cracking pressure is 0.45MPa

Zrrig=AHEAA 27
B0.8="1i#ifL1£0.8 B10=TrifFL121.0
Bi2=Tif7l1Z1.2 B15=FifFLZ1.5
No coad if without plug-in throttleer
B0.8=Throttle orifice size 0.8
B10=Throttle orifice size 1.0
B12=Throttle orifice size 1.2
B15=Throttle orifice size 1.5

FT=5MESMHERY E=p i oMIERY
ET=RHMHER T=5Mit i HER

No code=Externally pilot, externally drained
E=Internally pilot,externally drained
ET=lInternally pilot internally drained
T=Externally pilot, internally drained

Z5 =k T KAk
Z5L=Large quadrate plug with light

‘ E=RERETE
S=HiFVR HOTR S2=HAWH HOFR
No code=Without pilot adjustment

S=With meter-in pilot adjustment

S2=With meter-out pilot adjustment

CADIRIRI www.cadiriri.com.br
formularios@cadiriri.com.br (11)
2601-2839 (11) 96393-2796

Ningbo Hanshang Hydraulic Co.,Ltd.



